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The following expressions complement Section 2.4 of the article. Maple code is available from the
authors upon request.
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In-plane strains can be obtained using these displacements in (A-2) as
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By substituting (6) into (5), in-plane stress component can be written in terms of displacement poten-
tials 8 and 9 as,
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where p = 3 − 4ν for plane strain and p =
3−ν
1+ν

for plane stress
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Substituting for 8 and 9 in (A-4) gives
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σyy

µc exp(αx + βy)
=
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σxy

µc exp(αx + βy)
=
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,

(A-5c)

where
R1 =

p + 1
p − 1

and R1 =
3 − p
p − 1

.
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